Sl

TERLHL T 4 —ZXT = X AK%2020byDUNLOP

(F:&)—]
St IEE 1—2 2—-3 1—3
ATN—F
B2 1 2 3 [ BT — L3R Bz
$¥m BEVT)
D[k 28T (Tic2020) 64 57 | 1ms1m 9
epg HE(G7{/NTTC)
2 |44 E (¥ UTO) 46 46 2% 3
B B+ (OYIUTCO) i
S pmEET (U9 UTO) 75 64 285 1
ot e 1—2 2—3 1—3
Bsnw—7
B2 ] 1 2 3 [EE 57 — L& =Y
HFH RFTV74) :
! wE EF (G7A/NTTC) 62 62 285 1
B HBET () )
2 HH EBEEIUVALATA) 26 62 118 2
BE Fx(EE&))-VTC)
e arqemore | 2% | 26 2% 3
e 1-—2 2—3 1—3
cCon—-7
Z 5 T 2 3 B BT — L& | BhL
=REEE (2VAfYVTC) 76 i
g 5 Fa—) (5 60 28 1
EE EF (bhid) 67/
2 |FE @ (i) (5) 63 | 1BE 2
KHEHDH (£)F e YVTC)
3 RE BE (o) 06 36 284 3
(REE—]
Sk IEE 1—2 2—3 1—3
16857 n—7
B i 1 2 3 AR 57 — L& &z
TFH RFCTVT1)
! e EF(G7A/NTTC) 61 36 1E51% 2
=HERE (B)4Hhuf¥VTC)
? Ui 5 F(za—) 16 ‘e | & >
B BT (PHUTC)
? FEEBEEF(ZVYUTC) 63 64 285 1
pSisd[EES 1—2 2—3 1—3
i n—7
B2 1 2 3 [ ST — L3R NIEZ
B BHEBEF ()
sm BEm@LALLTA) 26 46 28 3
EE B+ (b»id) )
2|Fm @ (baid) 62 46 | 1B 2
EH BECVT4) :
* |1k 2 89T (Tic2020) 64 6 4 28 1
SR IEE 1—2 2—3 1—3
MITN—T
BT 1 2 3 s BT — L 3K &z
&% HEG7//NTTC) 76 ]
1 4 B (7P DTC) " 46 1R518Y 0.478 3
BEH FE (L&) )-VTC) 6/
? s _siy Gess-v10) | (4 75 | eI 052 | 1
KHEHDH (RIAIAYVTC)
Nam mEm(=a—) 6 4 57 1RS18% 0.5 2




